Goteborgs BF
Fyrmanna, torsdagtid, match 3:1 2017-10-26

IMP o6ver faltet, 6 bord, 12 par. Antal brickor: 14.

Plac Par Poang Namn MID
1 103 3.10 Bjorn Sorling - Bjorn Wenander 80438 4856
2 202 2.86 Ulla Berntsson - Ingvar Grahn 11235 5064
3 102 2.03 May Moore - Lars-Ake Gustafsson 4867 17359
4 203 171 Anders Brunzell - Bo Erikson 12576 6749
5 201 1.33 Krister Ljungberg - Lotta Konradsson 36684 47879
6 101 0.77 Eva Johansson - Nils Nordahl 33465 3075
7 301 -0.77 Dan Werdelin - Lars Oijerholm 48410 47137
8 1 -1.33 Sélve Helin - Folke Grauers 49357 57805
9 3 -1.71 Gunnar Jansson - Torbjorn Kareke 51436 13038
10 302 -2.03 Tony Elmroth - Mats Jakobsson 44888 57091
11 2 -2.86 Robin Bjorkstrand - Ingrid Petersen 30309 12906
12 303 -3.10 Jan Konar - Jan Ahlgvist 9717 10458
1 4 D10864 Basta kontrakt 2 4 KKn9764 Basta kontrakt 3 4 ED73 Basta kontrakt
Nord v 103 5¢ OD-2300 Ost vD84 4¢ O =-130 Syd v 3843 3¢ SD-1-100
Ingen +E4 NS + K ov ¢ EKD52
#Kn642 & ¢ v & NT #965 & ¢ v & NT #Kn & ¢ v & NT
a72 4 E9 N 4 3 10107 4832 4105 N33774 4K1096 48 N4 8886
v54 v Kn87 S 3 3 10107 vE9 v K53 S33774 v972 v EDKn S 48886
+KD76 ¢Kn10832 0O 8 9 2 2 4 4983 ¢+ ED1064 O 9 106 6 7 ¢ 97 ¢ Kn106 095556
#EK1075 D83 V8922414 #EDKN83 #742 vV 9 106 6 7 #K1065 #E87432 V95557
& KKn53 «ED & Kn542
v EKD962 vKn10762 v K1065
+95 ¢ Kn752 ¢ 843
*9 «K10 «D9
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
103 303 44 N+1 &3 450 21.0 -21.0(101 301 24 N+2 T 170 41.0 -41.0 3 203 4#0-1 +3 100 18.0 -18.0
1 201 4v S= A 420 16.0 -16.0|103 303 3¢+ O= «A -110 30 -3.0(101 301 3#0O-1 8 100 18.0 -18.0
2 202 44 N= ¢T 420 16.0 -16.0 3 203 3#0+1 vJ -130 -20 2.0(102 302 34 N-1 #A 50 -4.0 40
102 302 44 S= A 420 16.0 -16.0 1 201 44 N-2 &7 -200 -140 14.0(103 303 34 N-1 #A -50 -40 4.0
101 301 34 S+1 &A 170 -18.0 18.0 2 202 34 N-2 #4 -200 -140 140 1 201 44 N-2 &A -100 -14.0 14.0
3 203 3+ V= vT -110 -51.0 51.0(102 302 34 S-2 42 -200 -14.0 14.0 2 202 3vS-2 &K -100 -14.0 140
4 # KDKn Bésta kontrakt 5 & KKn654 Bésta kontrakt 6 & Kn9632 Bésta kontrakt
Vast v Kn52 54 V =-650 Nord v Kn10853 3NTOD-1100 |Ost v 1085 3NT S =400
Alla +85 NS ¢ Kn ov ¢-
+Kn8764 & ¢ v & NT #Kn5 & ¢ v & NT #EK1082 & ¢ v & NT
+103 4 E9876 N46 224 .- #0872 N467 94 4EK7 4D104 N9 6989
vE3 vK109764 S 4 6 2 2 4 vE94 v 762 S467 94 vD742 vK9 S96 989
49763 ¢E 08 6 11117 + 876 ¢+ E1054 0976 438 ¢Kn7 #D108643 O 3 7 4 4 4
#E10953 #K vV 8 6 11117 #ED97632 #K4 V97648 D976 %43 V3744414
& 542 4 ED103 485
vD8 vKD v EKn63
¢+ KDKn1042 ¢ KD932 ¢ EK952
«D2 «108 #Kn5
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
101 301 3NV-1 8 100 34.0 -34.0 2 202 54DV-2 ¢J 300 31.0 -31.0(103 303 2¢DO-3 48 800 62.0 -62.0
102 302 3NV-1 &6 100 34.0 -34.0(103 303 54DV-2 ¢J 300 31.0 -31.0 3 203 2vS+1 #J 140 0.0 0.0
1 201 24 O+2 ¢A -170 -20 20 1 201 34 S= ¢6 140 10.0 -10.0|101 301 24 N= 3 110 -5.0 5.0
3 203 3vO+2 K -200 -50 5.0 3 203 44 S-1 #A -100 -24.0 24.0|102 302 24 N= vK 110 -5.0 50
103 303 24 O+3 ¢K -200 -50 50101 301 44 N-1 ¢A -100 -24.0 24.0 1 201 3NN-1 +¢6 -50 -26.0 26.0
2 202 4vy O+1 ¢K -650 -56.0 56.0(102 302 44 S-1 #A -100 -24.0 240 2 202 3NS-1 46 -50 -26.0 26.0
7 & DKn3 Bésta kontrakt 8 46 Bésta kontrakt 9 & K74 Bésta kontrakt
Syd v K10943 34V =-110 Vast v 742 5NT N =460 Nord v KKn973 4¢ O =-130
Alla + E107 Ingen + KD9742 ov ¢ 754
#98 & ¢ v & NT #KD4 & ¢ v & NT *73 & ¢ v &4 NT
4 E642 4K10 N47 884 41098 47432 N 9 11101111 | 492 « E1065 N3 3553
vDKn v87 S 47884 vKKn98 v6 S 9 11101111 | vE105 vD8 S 23543
¢ D842 ¢ Kn6 095356 ¢E103 ¢ Kn86 O4 2 2 2 2 | +EKKn10986 ¢ - O 10107 8 8
#EKn2 #K1076543 V 9 5 3 5 6 £976 #Kn8532 V42222 |[«Kn #ED98542 V 10107 8 8
49875 # EKDKn5 4 DKn83
v E652 vED1053 v 642
+ K953 +5 + D32
«D #E10 »K106
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
102 302 3vy N+1 ¢8 170 22.0 -22.0 3 203 3NS+1 T 430 22.0 -22.0(103 303 3NV-4 44 400 49.0 -49.0
103 303 2vy N+2 ¢J 170 22.0 -22.0|101 301 3NN+1 v6 430 22.0 -22.0|101 301 640-2 «Q 200 28.0 -28.0
1 201 3y N= &K 140 16.0 -16.0|103 303 3NN+1 &2 430 22.0 -22.0(102 302 6¢ V-2 v7 200 28.0 -28.0
2 202 3#0= 49 -110 -20.0 20.0({102 302 4v S= «6 420 22.0 -22.0 2 202 5¢ V-1 ¥3 100 15.0 -15.0
3 203 3#0= 47 -110 -20.0 20.0 1 201 54 S-2 6 -100 -42.0 420 1 201 3NO+1 «Q -630 -40.0 40.0
101 301 3#O= 45 -110 -20.0 20.0 2 202 6NN-3 v6 -150 -46.0 46.0 3 203 6¢ V= ¢4 -1370 -80.0 80.0
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10 410873 Basta kontrakt 11 48 Basta kontrakt 12 D7 Basta kontrakt
Ost v 108 2v O =-110 Syd v EK1072 5v S =450 Vast vD10764 34 V =-140
Alla + E1083 Ingen + KD974 NS ¢ E3
& K52 & ¢ v & NT &K3 & ¢ v & NT #EKD5 & ¢ v & NT
» EK65 & DKn N6 85 6 6 &« KKn10542 D63 N 9 10116 10 4 Kn108 & EK963 N7 47 45
vKKn753 v642 S6 7 466 v5 vD84 S 9 10117 10 vEKn5 vK9 S7 4745
*2 ¢+ D974 075876 465 ¢ E1032 042263 410765 ¢ KKn94 06 96 9 8
»987 #DKn63 V75876 #10862 D74 V32263 #Kn102 #87 V696938
4942 & E97 & 542
vED9 v Kn963 v 832
+ KKn65 + Kn8 + D82
*E104 #EKn95 #9643
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 201 2¢ S+1 A 110 18.0 -18.0 1 201 4v N+1 &4 450 0.0 0.0 2 202 34 O= v2 -140 1.0 -1.0
102 302 3v V-1 T 100 17.0 -17.0 2 202 4v N+1 &6 450 0.0 0.0 3 203 34 O= 3 -140 1.0 -1.0
103 303 INS= v3 90 16.0 -16.0 3 203 5v N= 43 450 00 00(101 301 34 O= 8 -140 1.0 -1.0
101 301 INS-1 A -100 -13.0 13.0{101 301 4v N+1 ¢3 450 0.0 0.0|102 302 24 O+1 &4 -140 1.0 -1.0
2 202 2vV+1 T -140 -19.0 19.0(102 302 4v S+1 T 450 0.0 0.0|103 303 24 O+1 2 -140 1.0 -1.0
3 203 2¢vyV+1 ¥8 -140 -19.0 19.0(103 303 4v N+1 ¥3 450 00 0.0 1 201 34 0+1 ¢8 -170 -50 5.0
13 4743 Basta kontrakt 14 4 KDKn2 Basta kontrakt
Nord vED103 2¢ O =-90 Ost v EKn3 ANT S =430
Alla + KD8 Ingen *74
£975 & ¢ v & NT #EKn93 & ¢ v & NT
s E « D10952 N54565 s E 41097643 N 9 9 109 10
v Kn54 v K98 S54565 v D98 v 652 S 9 9 109 10
+ E64 ¢ 10532 088777 ¢+ KDKn6 ¢ 95 044141
#EDKNn863 &4 v88777 #D10862 #75 V44141
& KKn86 4385
v 762 vK1074
+ Kn97 + E10832
#K102 *K4
Par Kontr ut Res Poang Par Kontr ut Res Poang
102 302 24 V-3 4 300 45.0 -45.0 3 203 24aDO-4 v8 800 50.0 -50.0
103 303 2# V= 43 90 -5.0 5.0|102 302 3NN+1 ¢9 430 40 -40
1 201 3&V= ¢+K -110 -10.0 10.0(103 303 3NN+1 &7 430 40 -4.0
2 202 2#V+1 «3 -110 -10.0 10.0 1 201 3NN= a7 400 00 0.0
3 203 2#V+1l &7 -110 -10.0 10.0|101 301 3NN= «5 400 0.0 0.0
101 301 2+#V+1 4K -110 -10.0 10.0 2 202 4vS-2 +Q -100 -58.0 58.0
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